IS )

R 404 B 5 KT 4

N

R _ R N
Fily 4g¢ =2 - T Rh S - S W
IS N R
e I, g2 \ S 3
: Ly A1 A
T e e
e o ) 05
7 ) s > WA
v =2 Y =
S BN 7 7
/ 77l BN (R b W
2 S =R (O )
_ e Vg
s A ALES il
Wi B BIE ”;F‘
W e S/ \N 3
R : G /R
\\ O
= )5 F !
f N
)t J /‘ R = ,:-j; &
! i Zin S \
= oo, N7
ﬁ— " A v, | \
S=1:25,000 A SR
- 1Y =i A

7 —~ I3

< 2O, E B R OAGRER T, FBERITO

FOff HIK125000 (MBI 11%) 28U 7=, DT, 1547%
RRFE R T22¥ME 555805 ) = /
BARROEE [1ER 2
&S ~031 £
Xig & A2 =

PR TR A 3 B i 7 05 BT Hh X

LW REERES Fiiim,

+ | EE £ VERG __;é’;

RO mysemssnsnn e =

& & AV Im| sokn/miz iRz B W v Ve
ITWKRE| sz 2 [ tencsurEn | B /\\‘ %‘j{fﬁ%
BAEH | X Ay srmEsnenn | B \ ‘, é%/f_}:
X i 50K/ R B8 = . ) %%’,—ﬁ-\

TEREROEEIHAINUTORE %

NN
\\3\\\
<,

N

=l
I\

iEiﬁ(:&UEﬁ%(:{’FFﬁ?é&i‘EE 230 N
0 50 100m ENBDHDKEEDHEKR(Kn/m) %
—— §
1/2, 500 BRRAONMMERTIHOLBEROES(M) 038
\\“:‘J‘\ S T2 m T T IIIOT S \>\




WY W
94 BHEEERRITHR

R4

:

0.5

//
/
7
-
=7

W
\S
N
=
\=

: $=1:25, 000

ORI, [ O 5T, AT _/
HeliE 525000 I R) 2L 7-6 DT b, =
GRRE R T22%8H 455805) ] /
ARBZOWE [tEA éjjéﬁ
R &S ~031 g%
R FE752 % \“;\:ng_/ ] / /<
A SR T G 77 AT 0 = SSEEEEEEE—if///

= e

——— 0

ITHKEERRSE

—
Al
W\
A
N

—~_

/(\/(J/
A

- TERICKYEEMIHE
TRRD| myrsemeansnn
= S AV Im| souN/mi% Bz 5 R
IRKE| sz 5[ tencsvaEncr
HAEH| xg AY 2L BESNDNH
X o7 50N/ i LA F D B

TEROEEHAINLLTORE

TERICKYBREMAFRTHEEE
ENBHDRESDERAKN/ )

U
/xv

BARDAMSMERT IO LERDEE(m) 0.8

=)/ “E-%ﬁ\j/\
. " on /4 o N )
172, 000 <;;§§§§§§§§§§/:%%%E%iiiiiijy@zngf///”’:lggziégéf%E%%§§§§SEJ

\

HTTTAT777TT N o R W




